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Part | {56 marks)

For each duesﬁon from 1 to 28, four options are given. One of them is the corvect

answer. Maka your choice (1, 2, 3 or 4). Shade the correct oval {(1,2,30r4)on
the Optical Answer Sheet.

1. Study the classification chart on animals below.

Animals
Group E Group F Group G Group H
I | I l
Cockroach Guppy Pigeon Lion
Housefty Goldfish Penguin Cheetah
Animal X

Which one of the following is Animal X most likely to be?

(1) Butterfly
(2) Shark
(3) Dolphin
(4) Frog

2. The diagram below shows the roots of a plant.

Roots

Which one of the following best describes the function of the roots?

{1) it holds the plant upright.

{2) it absorbs water and mineral salts for the plant.
(3) It transports water to the plant.

{4) it transports mineral salts to the plant.
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3.

4,

The flow chart below shows the characteristics of objects A, B and C.

Yes
is it flexible? >

v No Yes
Can it float on water? :@

Mo
b

D

Which of the following could objects A, B and C be?

(1)
(2)
(3)
(4)

A B _ . C
Rubber band Ping pong ball Coin
Rubber band Coin Ping pong ball
Coin Ping pong ball Rubber band
Coin Rubber band Ping pong ball _

The table below contains some information about Organisms X and Y.

Characteristics

Organism X

Does not make iis own food

Can move from place to
place

Organism Y

Makes its own food

Cannot move from placs to
place

Which of the following could Organisms X and Y be?

(1
(2)
3}
(4)

__Organism X Organism Y
Mushroom Femn
Mushroom Rabbit

Rabbit Fern
Rabbit Mushroom
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5.

The diagram below shows light from a torch shining -on 3 cardboard shapes
arranged from different distances from the torch. All the cardboards have
identical heights.

:Q D; 12em ﬁ 12cm ﬂ
Torch

Cardboard Cardboard Cardboard
X Y Z

Screen

The diagram below shows the shadow that was formed on the screen.

—1— scresn

Which of tha following correctly shows the arrangement of cardbeards X, Y
and Z that are used to form the shadows shown above?

(1)

3)

(4)

O 1 | A
Y SRR
A 1 o
Ol 1 A
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Relly wanted to find out hows the rate of evaporation of water was affecied

by the temperature of water. She conduciad the experiment using 4 set-ups
P, Q, R and S as shown in the table below. The teble below shows the
conditions at the start of the experiment.

P Q R 8
Volume of water (mi) 200 200 200 200
'Exposed surface area of water (cm? | 100 100 200 200
Temperature of rocm (°C) 28 20 28 28

Tomperature of water (°C) 40 60 40 60

Which of the following pair of set-ups should Kelly use io ensure 2 fair tost?

(1) Pand Q (33Rand S
(2) QGand R @Pand S

The diagram below shows a plant with food-camying tubes removed between
positions X and Y while water-canying tubes ramained in the stem.

Which one of the following diagrams reprasents the appearance of the sism
after a few days?

(1) (3)
X X
¥ Y

) 4)

-

A
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8.

9.

The diagram below shows how metal strips, A, B and C, look like before and
after heating for 10 minutes.

Before
heating

After
heating

Based on the set-ups shown above, which of the following statements are
correct?

(1)
(2}
(3}
@

X: B axpands more than C when heated.
¥: C expands more than A when heated
¥ s A expands more than B when heated.

X only

Xand Y only
X and Z only
Y and Z only

What s the function of the large intestine?

(1) It uses digestive juices to digest food.

(2) It removes excess water from digested food.
(3) It removes excess water from undigested food.
{4) It absorbs digested food into the bloodstream.
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10.  An experiment is set up as shown in the diagram below. The temperaturs of

vrater in each set-up is the same at the start of the experiment.

500mt of
tap water

1200mt of
tap waler

A\

Set-up P

Which of the following statomenis is most likely to be correct?

{1) The water in both sei-ups will siavt to boil at the same time.
{2) The water in set-up P has more heat energy than the water in set-up R.
(3) The water in both sei-ups is ai the same temperature when it is boiling.

(4) The water in sef-up R is at a higher temperature than the water in set-up P
when it is boiling.

1. Study the diagram below.

Is it atiracted No

by a magnet?
Yes
v NO
Canitrepela (——> Q
magnet 7
l Yes
R

Based on the diagram, which of the following statements are correct?

A: Pis a magnet.

B : Q can be made into an electromagnet.
C : R can attract iron nails.

D : P and Q are non-magnetic materiais,

{1) A and B only (3) A and C only
{2) B and C only {4) C and D only
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12,

13.

The diagram below shows 2 animals.
\\\ :‘ i th \2 N
-~ e \\
Butterfly Mosquito
Based on the diagrams above, in what way(s) is/are the life cycles of the
animais similar?
A : Both give birth to young.
B : Both their young do not resembie the adults.
C : Both need to live in water before the aduft stage,
D : Both have to go through the pupal stage before they become adults,
(1) Aonly
{2) C only
(3) Band D only
(4) B, C and D only
Which of the following shows the correct sequence of reproduction of a
flowering plant in one cycle?
) Pollination e Pollinatio
//" 3 \ naton \\
Geminaticn Fertiflaation Feptfisation Seed diaparsal
\\ Seed dispersal ‘/ \ Gemination ‘—/
(2) C))
/"’ Polination '\\ /.. Pollination \\
Genminatlon Seed dispersal

Fertilisation Gemination

‘\ Fertilisation / Seed dispersal '/

4
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14,

15.

Four identical seeds were placed In both Dish A and Dish 8 23 shown balow.

DishA TTDishB

Which of the following conditions will result in only seeds from Dish A
gemminating?

Dish A i Dish B

{1) | Placed in the cupboard with | Placed in the sunny place
water without water

(2) | Placed in the refrigerator | Placed in the cupboard with
wiih water watsr

{3) | Placed in the sunny place | Placed in the refrigerator with
| without water water

(4) | Placed in the cupboard with | Placed in the cupboard with
waler water

The Water Cycle undsrgoss a few processes that invoive heat gain or heat
loss. Which one of the following is true about the Water Cycle?

Changes Processes Heat GainfLoss
(1) | Water —>  water vapour Evaporation Heat loss by water
{2) | Water vapour —» cloud Condensation Heat loss by water
(3) [Cloud — rain Evaporaticn Heat gain by water
(4) |Cloud — nrain Condensation Heat gain by water
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16.  The diagram below shows the mass and volume of 3 boxss, A, B and C.

Box A
Box B Box C
100 cm® 50 cm’® 50 cm®
50g 50g 100g
2 boxes were put on a balance at a time. Which one of the following diagrams is
correct?
(1) (3)

(2) 4
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17.

18.

Study the circuit below.

+

Which bulb{s) will still light up if Bulb V is fused?

™%

(1) Bulb S and T only (aambSmMUo@j

(2) Bulb S,T and U (4) None of the bulbs

Angela set up a circuit with the switches S1, S2, S3 and S4 as shown bealow.

20—
s\, -

@
",

84 B4

B5

All the 5 bulbs were lit when all 4 swifches are closed. Angela wanted 1o have

the fewest number of bulbs to be lit by opening only 1 switch. Which switch
should Angela open?

(1) 81 (3) 83
@) 52 (4) S4
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19. A syringe was inserted into a container containing 100 cm® of air. 40 cm® of air
was taken out from the container by the syringe.

100 ch3 of air
I

Container Before Syringe

A} Plunger
After 40cm® of air pulled out

Which one of the following comectly shows the final volumes of air in the

container and syringe?
Volume of air in container {cm”) | Volume of air in pump (cm?)
(1) 60 40
(2) 100 40
(3) 140 20
(4) 40 0

20.  The following shows a classification chart,

=1

FCcnduaor of Elecmcity—l l Non- Conductor of Electricity J

Magnetic Non-Magnetic  Magnetic  Non- Magnetic

X

Which one of the following represents X and Y?

X ¥
(1) Copper wire Fabric
(2) Fabric Copper wire
{3) Steel rod Wooden stick
@ | Plastic rod Steel rod
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23.  The diagram below shows 3 generations of Jane's family that carry the
gensetic trait for Discase X.

o e
® 1 OO WO

Jans

Legend:

O Femals tzls
. Femate camrier of Dissase X - Mele carrier of Diseass X

Which of the following statements can you conclude about the family ree?

A : Jane has a cousin with Disease X,

B : Jane's mother inherited the genes of Disease X from her grandmother,
G : There is a possibility of Jane's children inheriting the genes of Disease
D : Jane's uncle inherited the genes of Dissase X from his grandmother.

(1) A and C only {3) B and D only
{2) Aand D only {4) A, Band C only
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22. Jessie took some celis from different parts of a plant and an animal, She
observed the sample cells under the microscope and recorded her
observation in the table below.

CellX | CollY { Coll Z
Nucleus v ¥ v
Caoll wall ¥ : ~J
Cytoplasm ¥ ¥ y
Chloroplast ¥
Cell membrane ¥ N Y |

Which one of the following classification is correct?

Animal Cell Plant Cell
(1) Y and Z X only
(2) Y only XandZ
(3) Z only XandyY
(4) Xand Y Z only

23.  The graph below shows.the relationship between the speed of wind and the
distance travelled by seeds P and Q during seed dispersion.

e

P

Distance travelled
by seed {m)

— Speed of wind {m/s)
Which of the following most likely are characteristics of seeds P and Q?

Seed P Seed Q
(1) Soft hair Fibrous husk
) Fibrous husk Stiff hair
(3) Wing-like structure Seeds are in a pod
4) Sweet and juicy Soft hair
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24,

25.

Phote B is taken at same place as Photo A but a few months later.

Photo B
©.pPlantY

Key: A -PlantX

Based on the 2 pictures above, what are the likely characteristics of the frulis
of Plant X and Plant Y?

Fruit of Plant X Fruitof PlantY
(1) By wind By Man/animals
(2) By splitiing By water
(3) BY Man/animals By waier
(4) By wind By wind

Which of the following statement(s) is/are comect?

A. All green piants can make their own food.

8. Plants produce starch and oxygen during photosynthesis,

C. Respiration occurs only at night while pholosynthesis oceurs only during
the day

D. Leaves that are partislly green can make their own food.

(1) A BandC
(2) AandB only

{3) Band D oniy
{4) Aand D only
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28.

27.

(1)

(2}

The diagrams below show some bracket fungus on a tree and some mould on
an orangs.

Bracket fungus Mould

Which of the following statements about the bracket fungus and mould is

correct?
SQ'QM'
(1) The mouid disperses its 3gafs by wind.
{2) Both organisms are non-flowering piants.
(3) Both organisms need oxygen for their life processes.
{4) Bracket fungus makes its own food but the mould does not.

The below set-up shows the amount of gas collected at the end of 5 hours when
light intensity is 203 lux,

Y—gas
— test tube
I =3
- ~~ 1 :_“;f*- beaker
b AERS=—water plant
f = CsT ™ funnal
Fluorescent lam
: plasticine

Which of the following set-ups correctly shows the results when the fluorescent

lamp was placed nearer to the water plant?

3)

4
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28. The graph below shows the hearl rate of Damien from the start to the end of

his jog.
Number of heartbeais
{per minute
1 L
:
t
X e :

Time (minute)

Betwsen time periods, X to Y and Y to Z, which of the following best represents
what is happening in his body?

Period Perlod Y io Z

Rate of blood flow Amount of carbon Rats of uyse of

dioxide released digestsd food
(1) Decrease Becroase Increase
{2) Decrease Increase Decrease
{3) Increase Decrease Increase
(4) Increase Increase Decrease

£nd of Booklet A

A-17of 17



SINGAPCRE CHINESE GIRLS’ SCHOOL {(PRIMARY}

SECOND SEMESTRAL ASSESSMENT 2017

NAME: { DATE: 13 October 2017

CLASS: PRIMARY 5SY /C/ G/ SE/P Parents Sioahor

SCIENCE
BOOKLETE
Booklet A 58
Booklet B 44
Total 100
12 questions

44 marks

Total ime for Boolleiz A & B: 1 1t 45 min

DO NOT OPEN THIS BCOKLET UNTIL YOU ARE TOLD 70 DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

B-10of 16



Part Il {44 marks)
Answer all the following questions.

28.  Look at the diagrams below carefully.

Plunger —>»

Plunger—». o
Direction of Direction of
push push
Filled Filled with i
| PR
with air Stopper water
Stopper
Syringe A : Syringe &
Plunger
Direction of
push
Filled with
air and wa
Stepper
Syringe C
(a) The plunger can be pushed downwards in syringe(s) because
. {(2m)
(b) The plunger cannot be pushed downwards in syringe(s)
because . (2m)

B-2o0f 16 4




30. The table below shows the siailes of 4 substances, A, B, C and D at different

temperatures.
State of subsiances at
Substance
28°C 50°C 76°C

A solid solid solid
B ligguid liguid gas
Cc solid liquid ligquid
D liquid gas gas

(a) Based only on the table above, tick (] True’, 'False’, or ‘Not Possible to Tell
for the following statements. (2m)

Not
True False | Possible
to Tell

Subsiance A has the lowest freazing

® point.

(i) | Substance B Is a liquid at 70°C.

@i} | The melting polint for C is at 30°C.

W) Substance D has the lowest boiling
point.

(b) In the diagram below, draw how substancs C will look like when it is tilted in
the cup at 80°C. (Tm)

before il after tiit
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31. Joa conducted an

experiment to find out the amount of light refiectad by
different
materials, A, B, C and D. He set up the experiment as shown below.
Light source F
- o [ . Matedal‘
. Distance away
Light from light source
sensor ___,“-1

—

Joe recorded his results and plotted them in a graph as shown below. The
graph showed the amount of Ji

ght that was reflected by materials, A, B, C and
D as he varied the distance betwesn the light source and the material,

Amount of light reflected (Lux)
A

© 5. Distance away from
the light source(cm)

{a) What variable was the light sensor measuring? (1m)

(b) State 2 variables that he should keep the same to ensure a fair test.
Variable 1 :

(1m)

Variable 2 : Tim})

(c) Joe wanted to paste reflective strips on his bicycle so that it would be safe
for him to cycle at night.

Based on the results above, which materials, A, B, C or D, should he
choose for the reflactive strips on his bicycle? Explain your answer. (1m)

B-40f16




32. Michael prepared 2 set-ups, X and Y, as shown bslow. He placed 2 pieces of
pipe inic a basin of water 2t a certain temperature. Then he placed the fids at
different temperatures on top of each pips.

Lid at Lid at

D 60°C

Basinof | :
water —¥| —§

Set-up X Sat-up Y

After 5 minutes, Michael observed some water droplets form on the underside
of the lids In both set-ups. There were more water droplets formed in Set-up X
than in Set-upY.

(8) Pradict the temperature of water in the basin. {1m)

(b} Expiain why there are mors water droplets formed in Set-up X. (2m)

B-%0f 16




33. Mrs Tan boiled a pot of barley drink for her chiidren. However, it was too hot to
be consumed immediately. She added some ice cubes fo a basin. Next, she
placed the cup of hot barley drink in the basin of ice. After 15 minutes, she
used a thermometer to measure the temperature of the barley drink,

Cup of barley water

(2) What would happen to the temperature of the hot barley drink after 15
minutes? Explain your answer. (1m)

Mr Tan went to a drink stail to buy a drink. He noticed that the ice was
crushed instead of the usual ice cubes.

Crushed ice

(b) Explain how using crushed ice makes the drink ccol down faster than
using ice cubes. (1m)
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34. Using a circuit tester, Alan conducied an experiment fo test & circuit cand
and racorded his resulis in the tabls below.,

Clips connectsd to paper Bulb of circuit tastor
clips on circuit tester
Aand B Lighted up
Aand C Did not light up
Cand D Did not light up
Aand E Lighted up
Band E Lighted up
Aand D Did not light up

{a)} Based on the information above, draw 2 straight ¥nes in the diagram
below to show how the wires were connected in the circult taster, {im)

E

U

T

A
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34.(b} In a separate experiment, Alan set up the circuit below with 4 gaps, P,
Q, R and S where different objects could be connected to.

1
P Q
®—o *——r —
L2 o
13
g R
L4
-
.--——
He connected the ends of 4 rods A, B, C and D to each of the gaps. he

recorded his observation in the table below. A tick (¥) in the box indicated
that the bulb had it up and a cross (X) indicated that the bulb did not light up.

S

Position of rod Light bulb(s) that lit up

GapP | GapQ | GapR | Gap S L1 L2 L3

A B C D X Al N

Based on the circuit above, identify which rods, A, B, C and D, are conductors
and non-conductors of electricity. (2m)

Conductors of electricity:

Non-conductors of electricity:

(c) The rods A, B, C and D are re-aranged in 2 different ways shown in the
table below. Put a tick (V) in tho appropriate boxes to show which bulbs L1,
L2, L3 or L4 will light up and a cross (X) to show which bulb will not light up.

(2m)
Position of rod Light bulb(s) that lit up
GapP | GapQ | GapR | Gap S L1 L2 L3 L4
B C D A
D B A c o
3
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35.  Gabriella sets up 2 circuits with an iron nail suspended at equal distance
between two identical iron rods, X and Y. Both rods have an equal number
of coils of wire around them.

(— _ . ] (—
iron nail
1
X Y
N
o O o0
iron rods
Circuit 4 Circuit 2

{a) When only Circuit 1 is closed, what will happen to the iron nail ?

Circle the comrect answer below. (1m)

Move towards X Move towards Y Stay at the same
position

(b) If both circuits are closed at the same time, what will happen to the iron nail?
Explain your answer. (2m)

{c) When a copper nail is used instead, explain why it will remain at its original
pesition? (1m)

B-90f16 // 4




36.  Study the 3 circults below carefully.

e T
FORINO ®)

- L

B A

Circuit A Circult B

OO

| P . | | S—
Circuit ¢

(a) The graph below shows how the arrangement of the bulbs in a circuit using
similar batteries can affect the brightness of a bulb.

Write “A”, "B" and “C” in the correct boxes in the graph below. (2m)

¥

N

(b) If one of the bulbs in Circuit B fuses, will the other bulb still light up?
Give a reason for your answer. (1m)

Brightness of
a bulb (Lux)
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37. Selena wanted io find out the effect of overcrowding on plant growth. She
placed all the pots at the same placs and gave sach pot the sams amount of
water each day. The table below shows the set-ups she had prepared.

Set-up N";;;T‘;Of Types of soil | Size of pot
A 20 garden big
B 10 garden medium
C 20 loamy small
D 10 garden small
E 10 garden big
F 10 loamy medium |

(a) Wili Selera be able to make a conclusion on overcrowding if she
compares Set-ups A and D? Explain. (1m)

(b) If Selena wents to find out which type of sail is better for plant growth,
which 2 set-ups should she use? (im)

{c) In which pot, A or E, will the planis be healthier? Give a reason for your
answer. (1m)

B-110f 18
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38. Tea at 00°C was poured into 2 similar cups made of Material C and D
respectively. The cups were left on the table to cool down. The temperatures of
the tea in both cups were recorded every 5 minutes and a graph was then
plotted as shown balow.

Temperature (°C) |

> Time
(a) Explain why the tea in D cooled down faster. (1m)

(b) Mrs Lim placed a mat below the hot pan so that the hot pan will not burn
her table.

Which material, C or D, should she choose to use as a mat? Fill in the blanks
below. (2m)

Hot pan

mat

She shotuld choose Material because it is a
conductor of heat than Material 50 it will conduct heat from the hot
pan to the table

B-12 of 16 3




38(c) Jonathan set up the experiment below using four different materiais, P, Q, R
and S.

Wax with iron pin

8+ ——heater

He recorded the results of his experiment in the table below.

Material Time taken for the iron
pin to drop (min)

13

g

18

2

NABO|T

(1) One of the results above is wrong. Which result is wrong? Explain your
answer. (2m)
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39.  The diagram below shows parts of the reproductive system of a human being.

Reproductive system of a plant

(a) identify the parts, W, X, Y or Z which has the similar function as

PartA: PartB:

B- 14 of 16 1




38. Jeniy caivied out an experiment with 3 brightly-coloured flowers, A, B and C,
from the same piant. She removed a certain part from sach flower as shown
below.

(b} Jenny then dusted pollen grains on the top of each flower. Which flowers
A, B or C would not be able to bear fruit? Explain your answer, (2m)

{c) Which flower is most likely to have the lsast number of insects aitracted io
&. Expiain your answer. {1m)
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40.

Andrew wanted fo prove to his friend, Nathan, that plants produce carbon
dioxide when they respire. He prepared Set-up X for his experiment. Nathan
told Andrew that he needed to have a control set-up for his experiment. Both
set-ups were left in a dark room for 2 days.

glass jar
Well-watered
plant
- plastic bag
Substance P
Set-up X Control set-up
| Substance P
- Remains colouriess without carbon dioxide
- Tums pink with carbon dioxide

(a) Draw and label the control set-up that Andrew needs to set up in the
space shown above, (2m)

(b) Why did Andrew have to place the sei-ups for his experiment in a dark
room for two days? (1m)

() What observation would Andrew need to make in order to draw his
conclusion for this experiment? (1m)

END OF BOOKLET B
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Qn | Suggested Answer

29a

A and C, air can be compressed

29

B, water cannof be compressed

30a

False, Not possible to tell, Not possible to tell, True

Amount of light reflected by the material

Distance belween light sensor and materials
Light intensity frem the light source

A. A can reflect the highest amount of light at the furthest distance.

Any temperature from 61°C to 100°C.

Lid is cooler in X than in Y so water vapour can lose heat faster to the lid to
condense into more waler dropiets.

33a

The temperature of barley drink decreased. The hot barley drink lost heat
to the basin of ice waler.

33b

Crushed ice has more contact arealexposed surface area with the drink so
the drink can lose heat faster.

34a

€

0
¢ (Any 2 lines)

34b

Conductors of electricity: B and C
Non-conductors of electricity: A and D

Position of rod Light bulb{s} that lit up
P Q R S L1 L2 L3 L4
8 C D A X X X X
D B A C X N X v




35a

Move towards X

35b

Aftracted to Y. Y is a stronger magnet as circuit 2 has more batteries.

35¢

Copper is a non-magnetic material.

36a

Brighess T
of a bulb

fLux) l
B A

C

36b

Yes. The bulbs are arranged in paralle! so when one of the bulbs fuses,
the remaining bulbs will light up as it i still a closed circuit.

37a

No. A has bigger pot / more space but more seeds than D or
C has fewer seeds but a smaller pot / less space than A

37b

BandF

37¢

Pot E. There was less competition for water, sunlight, space and mineral -
salls. / There was less overcrowding.

38a

Material D is a better conductor of heat than Material C.

38b

C, poorer, D, slower

38¢c

R. Since Material R Is closer to the heater than Material Q and P, the pin
at Material R should drop before the pins at Q and P.

39a

PatA:X PartB: Z

3%b

Flower B. The stigma of Flower B was removed so pollination could not
take place, thus fertilisation could not take place and it cannot bear fruit.

$9¢

Flower C. Flower C has no petals.

4ba

A pot of soil covered with plastic bag and a container of Substance P. OR
Just the container substance P.

40b

Prevent photosynthesis from taking place.

40¢

Substance P turns pink.
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